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Topic:- BELED S2 eng

1) Two co-workers were discussing something, when the first told the second, “You can say that again”. What did the first

co-worker mean to say?
[Question ID = 7164]

A WN -

. Please repeat, | didn’t hear you. [Option ID = 28650]
. Can you say that again? [Option ID = 28651]

. You can repeat this to others. [Option ID = 28652]

. That’s true, | agree. [Option ID = 28653]

Correct Answer :-
e That’s true, | agree. [Option ID = 28653]

2) Savita’s spendthriftness bothered her sister a lot. She advised her to her expenditure and
some of her money for savings every month. Select the correct option, from the ones given below, to fill in the blanks.
[Question ID = 7165]

A WN -

set aside; set up [Option ID = 28654]
set down; set aside [Option ID = 28655]
set down; set out [Option ID = 28656]
set aside; set in [Option ID = 28657]

Correct Answer :-
e set down; set aside [Option ID = 28655]

3) Sylvia really likes to maintain her skin. Hence, the sudden break of acne on her face, freaked her out.
[Questlon ID = 7166]

AWN—\

into [Option ID = 28658]
up [Option ID = 28659]
down [Option ID = 28660]
out [Option ID = 28661]

Correct Answer :-
e out [Option ID = 28661]

4) Select any one word that can be used to complete both the sentences below:

Sentence 1. A of chicks littered the ground each morning.

Sentence 2. Every Sunday she forced her to accompany her to the church.

[Question ID = 7167]

1.

brood
[Option ID = 28662]

. pack

[Option ID = 28663]
herd

[Option ID = 28664]
school

[Option ID = 28665]

Correct Answer :-
e brood

[Option ID = 28662]

5) Complete the sentence:

The coach reserved for ladies in the train was very crowded. As it entered the next station, travellers for
space, as more passengers boarded the coach.

2.

3.

[Question ID = 7168]
1.

made

[Option ID = 28666]
intrigued

www.FirstRanker.com
[Option ID = 28667]
reeded
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Correct Answer :-

e jostled

[Option ID = 28669]

6) Complete the sentence:

He chose to avoid the comforts that other officers often claimed as a right. He had an childhood, devoid of
luxuries, and was happy with what he had.

[Question ID = 7169]
1. austere

[Option ID = 28670]
2. content

[Option ID = 28671]
3. indulgent

[Option ID = 28672]
4. reserved

[Option ID = 28673]
Correct Answer :-
® austere

[Option ID = 28670]

7) Choose the correct option that explains the meaning of the underlined phrase:

The destruction caused by the tsunami was widespread. Rescuers said that it was hoping against hope to expect survivors in

the village nearest to the coast.

[Question ID = 7170]
1. expecting something to happen that is highly unlikely

[Option ID = 28674]
2. expecting something to happen that is likely

[Option ID = 28675]
3. exploring what could be done in a given situation

[Option ID = 28676]
4. expressing confidence about a situation or event

[Option ID = 28677]
Correct Answer :-
e expecting something to happen that is highly unlikely

[Option ID = 28674]

8) “But is it right, my son, to keep mum and not say what you consider just and fair?”

Which one of the following can be used as a synonym for the underlined word, without changing the meaning of the

sentence?

[Question ID = 7171]
1. Social

[Option ID = 28678]
2. Mother

[Option ID = 28679]
3. Silent

[Option ID = 28680]
4. Afraid

[Option ID = 28681]

Correct Answer :-

o—Silant

[Option ID = 28680] www.FirstRanker.com

9) “The child was staring out through the open window with a dazed horror in her eyes.”
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[Option ID = 28682]
2. Staring

[Option ID = 28683]
3. Eyes

[Option ID = 28684]
4. Through

[Option ID = 28685]
Correct Answer :-
e Staring

[Option ID = 28683]

10) “Macavity’s a Mystery Cat: he’s called the Hidden Paw —
For he’s the master criminal who can defy the Law.”

What is the meaning of the underlined word in the lines above?

[Question ID = 7173]
1. Kill

[Option ID = 28686]
2. Disobey

[Option ID = 28687]
3. Change

[Option ID = 28688]
4. Follow

[Option ID = 28689]
Correct Answer :-
e Disobey

[Option ID = 28687]

11) Seven has been quite upset about Mr. Nath’s gaunt appearance and was sure that he was starving.

Find the antonym of the word 'gaunt’.

[Question ID = 7174]
1. haggard

[Option ID = 28690]
2. lean

[Option ID = 28691]
3. skinny

[Option ID = 28692]
4. plump

[Option ID = 28693]
Correct Answer :-
e plump

[Option ID = 28693]

12) Which of the following is incorrect?

[Question ID = 7175]
1. A school of whales

[Option ID = 28694]
2. A murder of crows

[Option ID = 28695]

Alorarsiralobiard —
T A era o etepants

W

[Option ID = 28696] www.FirstRanker.com
4. A pack of lions

[Option ID = 28697]
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13) Meeta told her mother, “I’m not hungry. I’ll eat when | want to.”

Choose the correct way of writing the above text in reported speech from the options given below:

[Question ID = 7176]
1. Meeta told her mother that I’m not hungry and I’ll eat when | want to.

[Option ID = 28698]
2. Meeta told her mother that she is not hungry and will eat when she wants to.

[Option ID = 28699]
3. Meeta told her mother that she wasn’t hungry and would eat when she wanted to.

[Option ID = 28700]
4. Meeta told her mother that she wasn’t hungry and will eat when she wants to.

[Option ID = 28701]

Correct Answer :-
® Meeta told her mother that she wasn’t hungry and would eat when she wanted to.

[Option ID = 28700]

14) ‘I bumped into my teacher at the shopping centre’.

The phrasal verb used in the above sentence means:

[Question ID = 7177]

1. To hit someone hard

[Option ID = 28702]
2. To pat someone on the back

[Option ID = 28703]
3. To push someone

[Option ID = 28704]
4. To meet someone by chance

[Option ID = 28705]

Correct Answer :-
e To meet someone by chance
[Option ID = 28705]
15) Which of the following adjectives cannot be used with the word ‘Fashion’?
[Question ID = 7178]
. Unique [Option ID = 28706]
. Trendy [Option ID = 28707]

. Pathetic [Option ID = 28708]
. Empathetic [Option ID = 28709]

A wWw N -

Correct Answer :-
e Empathetic [Option ID = 28709]
16) Rohit had fought with his parents to be on the football team. When his parents asked him about his teammates, he
concealed the fact that he was having a rough time with them. Rohit was:
[Question ID = 7179]
Hiding the fact that he was skipping the sessions. [Option ID = 28710]
Confessing the fact that he was training hard with his teammates. [Option ID = 28711]

Confessing that his teammates played roughly. [Option ID = 28712]
Hiding the fact that he was having problems with his teammates. [Option ID = 28713]

A w N =

Correct Answer :-
e Hiding the fact that he was having problems with his teammates. [Option ID = 28713]

17) The company is seeking to market its new product soon.

Identify the grammatical category of the underlined word in the context of the given sentence:

[Question ID = 7180] www.FirstRanker.com
1. Noun
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[Option ID = 28716]
4. Adverb

[Option ID = 28717]
Correct Answer :-

e Verb

[Option ID = 28716]

18) Select the suitable option for the underlined phrase :

During the summer season there was an acute shortage of water. Unfailingly, Amrita used to get up at the first ring of the
water supply alarm.

[Question ID = 7181]
1. would

[Option ID = 28718]
2. may

[Option ID = 28719]
3. should

[Option ID = 28720]
4. shall

[Option ID = 28721]
Correct Answer :-
e would

[Option ID = 28718]

19) Write appropriate question words in the blank spaces in the following dialogue.

Naisha: did you get this book?

Samaira: Yesterday morning.

Naisha: is your sister crying?

Samaira: Because she has lost her doll.

Naisha: room is this, yours or hers?

Samaira: It’s ours.

Naisha: do you go to school?

Samaira: We walk to school. It is nearby.

[Question ID = 7182]
1. where, why, which, when

[Option ID = 28722]

2. why, how, which, why
[Option ID = 28723]

3. where, why, whose, when

[Option ID = 28724]
4. when, why, whose, how

[Option ID = 28725]

Correct Answer :-
e when, why, whose, how
[Option ID = 28725]
20) Can you give me some clay, please? Use suitable words in place of italicized nouns.

[Question ID = 7183]
1. Alump of clay [Option ID = 28726]

2—A-bundle-of rI:\Jl [{'\'r_ﬂ-inn 1D = 752777]
3. A piece of clay [Option ID = 28728]
4. Abunch of clay [Option ID = 28729] www.FirstRanker.com

Correct Answer :-
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1) “efiy e} 519 B acc1 @I 3 b oRAl Shider et sruen adva Fenfira @2 8 3 IAD AT 31T 6T & UD ORI Sitdel Gofel- IUsIThIaIG T Gofor
IcUIGHl GGIol UR SR & IRl 3R I8 Jculcal MU fere 3; smuds siier & fore & 3Jza &l carer acet SRt & Susiler- oier 8l 3a & o1 Rafer 3

U PYGH T6CId R 3 IeUIS dl TUD o1 3, U= 311U A8 ¢t SN & b SiIol-3feTSirol 3Tt @ Hrdlel 3 3maeI af¥e ot acer a1 3 3ii? U Seure
@1 wafta 3 s @ |7

STETi9T O 3R UR ST 31u derell ol Al @t d oeny, 3R ofla 13 oKl vl 3 21 18l e @I goi:

|. 9IR A IcuIGol T 96 SITelT

Il. cirent @5 Shider 3 SUsibIAIG @1 Il Blelt

11, Seurg sicor 3R IADI R A DS AFdeEl DI of Bloll
IV. <liell 3 Seure wdlcal &I ygitl o1 dgolr

[Question ID = 7197]
1.0V, 0L 0

[Option ID = 28782]
2.0, 1, 10v, 11

[Option ID = 28783]
30050V, L

[Option ID = 28784]
4. 1L, AL 0, v

[Option ID = 28785]

Correct Answer :-
o I, 1,1V, 1
[Option ID = 28783]
2) forgoiferiRae 3 A acoll bl zfte A Dol AT 9166 Y 37
[Question ID = 7198]
1. 3odfiferr [Option ID = 28786]
2. suft [Option ID = 28787]

3. gcure [Option ID = 28788]
4. formzrr [Option ID = 28789]

Correct Answer :-
o 3odifera [Option ID = 28786]

3) “J@ 3rueil Uil TR, drel 3R Ydre i 9ad gu  ddid-adic 3R IR D =il Aad yare 3 frera>- AT dedr §311 3ARI 9516 | 7
IR dftpal 3 3Aifcpd 9Iecl T MR a9l 3 -

[Question ID = 7199]
1. der-der, 3if¥daca

[Option ID = 28790]
2. ea-ded, 3son

[Option ID = 28791]
3. 3I3a-33d, dcloll

[Option ID = 28792]
4., qgd-dsad, dol

[Option ID = 28793]
Correct Answer :-
®  Tcld-deld, 3if¥dca
[Option ID = 28790]

4) “3¥ 3T g3 FoI-5ol D, Haz D
3M13)- 3113} olrercil-aIretl §RIR @rchl”
SwRfp dfepal 3 Yaifepa dfesal 3 dlat a1 ‘cipR’ 3 -

[Question ID = 7200]

1. 2w sicier www.FirstRanker.com
[Option ID = 28794]
2. dAeIdiasul SIcibR
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4. 3 ciPR

[Option ID = 28797]

Correct Answer :-
®  JIoIdIdT 3IcibR

[Option ID = 28795]

5) “uz fpaot gm &t ara 3 b zfic & snoftafc oI et ves aren=or At At s 8, S/l 321 formira A Kicsh o ORI & sogergd! -1 A
33 911 oo s e 3| 7

33 areEniol 3 fobor cient & aaf ar & 37

[Question ID = 7201]

1. St 3 ol Apa
[Option ID = 28798]

2. Sl 33 Aol Dl SEIAI D HETd DI oldl AL
[Option ID = 28799]

3. Sl 3 A &

[Option ID = 28800]
4. Sl 33 D2 D 3ol Sfidol Pl WIBICT Tolld &

[Option ID = 28801]

Correct Answer :-
® St 33T Aol bl SIEIAT D BT DI Glal JAeTSIT

[Option ID = 28799]

6) foaiferlRaa 3 A fopa orec 3 SR AT o1l 3 -
[Question ID = 7202]

. opra [Option ID = 28802]

. amrur [Option ID = 28803]

-2 [Option 1D = 28804]

. oot [Option ID = 28805]

A WN =

Correct Answer :-
® garoamd [Option ID = 28805]

7) “g¥ & o dic el 9RG-3Id 3Mlel Uz,
@R 31 il Rdet wer 2-9:dd Sifol uR?
It of 31T 81t 3 DR G i arvur,
BRI A Toll

#ol, gPn g¥ gon | ”
ST dftpl oI forgoiferRaa 3 31 sig o= 3 ?

[Question ID = 7203]

1. Ict D3 A 3T B2, 36T D2 A 3

[Option ID = 28806]
2. et f R S o B R A

[Option ID = 28807]
3. ©I DI RIR D, SISANT Bl ool

[Option ID = 28808]
4. urefl ufes ufes St 311, UfSd #IT of DRI

[Option ID = 28809]
Correct Answer :-
o it aifd iR & 31l bl Jfer o
[Option ID = 28807]

oot

snfeieror 3 M-I FTaAT BT HPT IR | 7 www.FirstRanker.com
SwYp dfepal 3 ofd ween aredn 3 b -
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[Option ID = 28810]
2. 33 Slidel 3 FAGRA 8ol &

www.FirstRanker.com www.FirstRanker.com

[Option ID = 28811]
3. g8 ¥4 A dferd & srI 3

[Option ID = 28812]
4. 34 3k gA IAD Sfaer D ol used

[Option ID = 28813]

Correct Answer :-
® g3 3 A dftra 38 orm &

[Option ID = 28812]
9) forafeiRaa & A @il Al Fael 9ATHARRYI gd FRI eI 3 ?
[Question ID = 7205]
1. Susiicprars & il [Option ID = 28814]
2. fwier [Option ID = 28815]
3. gaaws g [Option ID = 28816]
4. Shamt 8 [Option ID = 28817]

Correct Answer :-
® 3usircprarg ol Jxpfer [Option ID = 28814]

10) “ul weor archt off 5 & aifq i | ”
gqd ufes 3 ‘Ol weol’ ot aref 3 -

[Question ID = 7206]
1. omwr gl arcll

[Option ID = 28818]
2. gu forwerol areft &

[Option ID = 28819]
3. Yds Blol areit &

[Option ID = 28820]
4. e Bot archt 3

[Option ID = 28821]

Correct Answer :-
® Jds glol arcil &
[Option ID = 28820]
11) ‘oarel’ foadt Faer 8?7
[Question ID = 7207]
. omIget 6t [Option 1D = 28822]
. ORI 9iep2 g &6t [Option ID = 28823]
. o= &t [Option ID = 28824]
. gfepate &t [Option ID = 28825]

A W N -

Correct Answer :-
® Gr1 gip? gaig Y [Option ID = 28823]

12) fowafcRaa 3 A dla 1 Bfd SRIAt 87

[Question ID = 7208]

1. omemsfer [Option ID = 28826]

2. arster [Option ID = 28827]

3. wditz [Option ID = 28828]

4. Ipfoia fuidt Brrer [Option ID = 28829]

Correct Answer :-
o Jrfmid feurdt forrer [Option ID = 28829]

13) Zaui- gjzaen 3iiz cre fapvor- 2t 3 wifésa oreg 3 fagrgwr 3 -

[QuestiontD="7209}

1. uf¥sor aras .
www.FirstRanker.com

[Option ID = 28830]
2. rdonfdics arad
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4. Spuraras

[Option ID = 28833]

www.FirstRanker.com www.FirstRanker.com

Correct Answer :-
® D
[Option ID = 28833]
14) ‘fopfl wa A forwcron’ Ufes o1 aref 3 -
[Question ID = 7210]
. fapaft oyt 3 foraveron | [Option ID = 28834]
. fopaft dist 3 forerar | [Option ID = 28835]

. o1 a sien | [Option ID = 28836]
. fepaft @1 31 forperan | [Option ID = 28837]

AW N =

Correct Answer :-
® it Gor 3 forpeta | [Option ID = 28837]

15) 2ren-2r6fl’ 3 ®lot A1 AART 3?7
[Question ID = 7211]

ey [Option ID = 28838]

ez [Option ID = 28839]

g 2w [Option ID = 28840]

. feey 2wmt [Option ID = 28841]

A W N -

Correct Answer :-
® gz wwma [Option ID = 28840]

16) ‘siicr udl arctt 3 & 3 fa9rs=r =i 3?7

[Question ID = 7212]
1. faf¥n
[Option ID = 28842]
2. offex
[Option ID = 28843]
3. &

[Option ID = 28844]
4. dm

[Option ID = 28845]

Correct Answer :-
e
[Option ID = 28845]
17) ‘@aft’ 9rss fowafalRaa 3 A fprer uafard 3?7
[Question ID = 7213]
. Ty [Option ID = 28846]
. soel [Option ID = 28847]
. 9r [Option ID = 28848]
. &t [Option ID = 28849]

A w N =

Correct Answer :-
e Jp [Option ID = 28848]

18) ‘sifdoraer’ fap1 FaedR &t Bpfer 3?7
[Question ID = 7214]

. otz arpermardt &t [Option ID = 28850]

. BR¥d9rRrI g=qe &t [Option ID = 28851]

. et Bis Rorwe &t [Option 1D = 28852]

. 91 Shoft Bt [Option ID = 28853]

A WN -

Correct Answer :-
® sf¥donrr gcder &t [Option ID = 28851]

19— AcuTrT SToT I Yo W33y, Sr YT URIE S 3+
ofdar & A gRig dfept fowrd! wrom 3? www.FirstRanker.com
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2. yBioicet G Bt

[Option ID = 28855]
3. odlerr &

www.FirstRanker.com www.FirstRanker.com

[Option ID = 28856]
4. afteré

[Option ID = 28857]

Correct Answer :-
® ot diaar ot

[Option ID = 28854]

20) sotdt A PBlol AT "dgd’ 91sg 3?7
[Question ID = 7216]
. auf [Option ID = 28858]
. 3= [Option ID = 28859]
. st [Option ID = 28860]
. a3 [Option ID = 28861]

A WN -

Correct Answer :-
e gl [Option ID = 28860]

Topic:- BELED S2 bil

1) The mean marks of a class of forty students are 80. If the marks of two students whose scores are 24 and 22, are
removed from the calculation, what would be the new mean marks?

T Dl D AIeliA Bl D 3iId 3 80 3 Afs 24 g 22 3icb urel drel 3l Bl @ 30 3IVIGH A A el $A S, dl oRl AR 3ic bl sis1?
[Question ID = 7218]
1. 38 [Option ID = 28866]
2. 73 [Option ID = 28867]
3. 83 [Option ID = 28868]
4. 46 [Option ID = 28869]

Correct Answer :-
e 383 [Option ID = 28868]

2) If each observation of the data is increased by 5, then their mean

Af 3fibs @ YA 3aciiad 3 5 dI gig &bl sIredt 3, al Soror e

[Question ID = 7219]

Remains the same / uaet Siarr &t 33sm [Option ID = 28870]

Becomes five times the original mean / #ct aime=r 31 uia sjont 9@ SIREen [Option ID = 28871]
Decreases by 5 / 5 @t gr1 aen [Option ID = 28872]

Increases by 5 / 5 &t gfig @pit [Option ID = 28873]

A w N =

Correct Answer :-
e |Increases by 5 / 5 &t gfig @pft [Option ID = 28873]

3) Simplify 256-4(-32)

256-4(-32) @1 w1z oL

[Question ID = 7220]
1. 28

[Option ID = 28874]
2. 82

[Option ID = 28875]
3. (1/256)6

[Option ID = 28876]
4. 25612

[Option ID = 28877]

Correct Answer :-

www.FirstRanker.com
4) If the zeroes of the quadratic polynomial ax2+bx+c, cz0 are equal, then which of the following options will be correct?



| 2 FivstRartRer o=

l | a|Pdye; anna il f Eanss /mﬁia@%rg faudta & [Option ID = 28878] .
2. cand b have opposite signs. / ¢ 3z b Rrs fusia @ [OWMWW FHggtRanker.com www.FirstRanker.com
3. c and a have the same sign. / c 3ik a @ k& 2wmer & [Option ID = 28880]

4. c and b have the same sign. / ¢ 3z b & firs 2wmer & [Option ID = 28881]

Correct Answer :-
® c and a have the same sign. / c 3z a @ f1& 3@t & [Option ID = 28880]

5) A cylinder and a cone are of the same base radius and the same height. What will be the ratio of the volume of the
cylinder to that of the cone?

Qb detol 3iiR iy AATel MEMR o siiz AATel Haré D & detol dD IIRIol 313 iy @ IIRIA6T I 3fofUTd aT IvN?
[Question ID = 7222]
2:1 [Option ID = 28882]
3:1 [Option ID = 28883]
2:3 [Option ID = 28884]
3:2 [Option ID = 28885]

A WN -

Correct Answer :-

e 3:1 [Option ID = 28883]

6) From a cylinder of height 24 cm and base radius 10 cm, a cone of the same height and base is scooped out. The volume
of the resulting solid is

wop Ricis? Rradl sarg 24 Aéiier ik ek foz=n 10 Aésfies 3, e A e Jars s meR arel v 9iqg formrel fern siran @ ufevmena:
ORI DI 3RIG 3P

[Question ID = 7223]
1. 1600m cm3

[Option ID = 28886]
2. 2400w cm3

[Option ID = 28887]
3. 1800w cm3

[Option ID = 28888]
4. 2600m cm?3

[Option ID = 28889]

Correct Answer :-
e 1600m cm?

[Option ID = 28886]

7) On increasing the radius of a circle by 30%, its area increases by

ub gd i fofs=n ot 30% dgTol R, 3D i 3 fbaoil gfg aptlt
[Question ID = 7224]

1. 60% [Option ID = 28890]

2. 69% [Option ID = 28891]

3. 15% [Option ID = 28892]

4. 63% [Option ID = 28893]

Correct Answer :-
® 69% [Option ID = 28891]

8) The product of any two irrational numbers is:

fop2fl ot <1 sruf¥drar Fizensii 1 sureTser 3

[Question ID = 7225]

1. Always an irrational number. / adeon v suf¥drr 3een [Option ID = 28894]

2. Always a rational number. / ador vas uf¥drr 2=n [Option ID = 28895]

3. Always an integer. / @don ue guris [Option ID = 28896]

4. Sometimes rational, sometimes irrational number. / asft ufsdrr, wsft smf¥drr 2en [Option ID = 28897]

Correct Answer :-
e Sometimes rational, sometimes irrational number. / @it uf¥drr, @sft smf¥drr :n [Option ID = 28897]

9) If x +y =7 and xy = 4, then the value of x3 + y3is _
www.FirstRanker.com
afe x +y =7 Az xy = 4, ag x3+y3 of gea 3
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4. 289 [Option ID = 28901]

Correct Answer :-
e 259 [Option ID = 28899]

10) Which largest number evenly divides the sum of any ‘10’ consecutive whole numbers?

fopodl st 10" foraz gui Jzcr3il @ AIPT DI Bl 2l AR T1 I gl e A fRenfora oeh?
[Question ID = 7227]

1. 2 [Option ID = 28902]

2. 9 [Option ID = 28903]

3. 10 [Option ID = 28904]

4. 11 [Option ID = 28905]

Correct Answer :-
e 10 [Option ID = 28904]

11) Which of the following represents the nt" term of an Arithmetic Progression?

forgoiferRaa 3 3 Blol vp MR Yl D Nd ug &I Yferforferea oon?

[Question ID = 7228]

3n+5, n is a positive integer./3n+5, n o tolcdis yuifes & [Option ID = 28906]

3n2 +3n+5, n is a positive integer./3n2+3n+5, n vo eoicad guifc & [Option ID = 28907]

3n2- 4mZ, n and m are positive integers./3n2-4mZ, n siz m eenea® Yuife & [Option ID = 28908]
4m2, m is a positive integer./4m?2, m v el guifo & [Option ID = 28909]

AW N =

Correct Answer :-

® 3n+5, n is a positive integer./3n+5, n v goars guifas & [Option ID = 28906]

12) The height and radius of a cone shaped water cup are 8 cm and 4 cm respectively. The cup has been filled with water
to half its height, find out what portion of the volume of the cup is filled with water?

TP 9@ D AMPR D Ulell B PU DI Hars iR fzn qarer: 8 il 3iiz 4 2wl 8 U @I urell A D! Harg & el ad NI ST, dl SIid HIfere
o> DU & ARIAST D fbeor et 3 ure s 3?7

[Question ID = 7229]

. Half / smer [Option ID = 28910]

One-fourth / wo-dalers [Option ID = 28911]

One-eighth / smaat f&=m [Option ID = 28912]

One-third / o fsE [Option ID = 28913]

A W N -

Correct Answer :-
® One-eighth / stoai &= [Option ID = 28912]

13) If the remainder on division of x 3 + 2x2 + kx + 3 by x - 3 is 21, find the value of k.

at x3+ 2x2+ kx + 3@ x - 3 A RpnlE ol ur duwa 21 §, a1 K @I #1561 siia Hide
[Question ID = 7230]
1. -9 [Option ID = 28914]
2. 3 [Option ID = 28915]
3. 9 [Option ID = 28916]
4. -3 [Option ID = 28917]

Correct Answer :-

e -9 [Option ID = 28914]

14) Reema and Meena plan to visit Taj Mahal. What is the probability that they both will visit on the same day in the month
of January.

$tam 3iiz afifon AsIAEC Sl B Abstell doll 38 3 $ADI a=r YRIGdr 3 6 A Jloll Slofast @ g A vb &l ol Argp wIsil?
[Question ID = 7231]

30/31 [Option ID = 28918]

1/31 [Option ID = 28919]

1/30 [Option ID = 28920]

2/31 [Option ID = 28921]

A W N -

Correct Answer :-
e 1/31 [Option ID = 28919]

15) A can do a piece of work in 14 days. B is 75% more efficient than A. How many days B takes to do the same work?
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3. 6 [Option ID = 28924]
4. 5 [Option ID = 28925]

Correct Answer :-
e 3 [Option ID = 28922]

16) When a natural number x is divided by 4, remainder is 3. What is the remainder when 2x is divided by 4.

S U Yrapd AT X DI 4 A fpnfora fpan sirar 3 a duwa 3 gadr 3 s 2X 1 4 3 fRenfora e sifen at drawd o= Sem?
[Question ID = 7233]

1. 2 [Option ID = 28926]

2. 3 [Option ID = 28927]

3. 4 [Option ID = 28928]

4. 0 [Option ID = 28929]

Correct Answer :-

e 2 [Option ID = 28926]

17) A student was asked to divide a number by 4 and add 8 to the quotient. He however first added 8 to the number and
then divided it by 4, getting 100 as the answer. The correct answer should have been:

TP BI DI TP AT DI 4 A fGfora @2ol 3R Herbd A 8 Siisel @ feTe sl oRI AT BIcliles Aol Uscl 8 I AT 3 SIS 3R b 334 4 A
fersnfSra foper, $91 a2s 33 Iz @ wu 3 100 yra foven A&t 302 dlon anfdv em:

[Question ID = 7234]

1. 104 [Option ID = 28930]

2. 106 [Option ID = 28931]

3. 107 [Option ID = 28932]

4. 108 [Option ID = 28933]

Correct Answer :-
e 106 [Option ID = 28931]

18) What is the probability that a number selected from 1...100 is a square of a whole number?

=1 giRrear 3 b 1..... 100 3 1 goll 31 DIF AR, TP YUl AR DI 9ot 37
[Question ID = 7235]

1. 1/100 [Option ID = 28934]

2. 1 [Option ID = 28935]

3. 1/10 [Option ID = 28936]

4. 9/10 [Option ID = 28937]

Correct Answer :-

e 1/10 [Option ID = 28936]

19) Anika was given pocket money on January 1st, 2020. From this money, she puts Re 1 on day 1, Rs 2 on day 2, Rs 3 on
day 3 and continued doing so till fortnight, in her piggy bank. For the rest of the month, for each succeeding day, she puts
Rs 2 more than the amount put on the previous day in the piggy bank and continues doing so till the end of the month. She
has also spent Rs 168 of her pocket money and found that at the end of the month, she still had Rs 100 with her. How much
was her pocket money for the month?

1 Stetadt 2020 o1 sifdpar @l IADT Sid X0 fE1 SR e o1 Al 3 A 36l 31Ul Sfeciad A Usdl ol 1 IuRM, g? o1 2 Su 3ii? din 3ot 3
U, 3e1cl 15 1Go1 o srerdl 38 ardbl 9 a1 & R ycdd 1ot ag sfccid 3 el 1ot sIcil o1 i1 A 2 uw sifére sreredl 3 siiv #1dlel @ sia
dam A1 okl el 3 301 vl S A 168 FuA T ot fopw F 3iiz 320l As urRn 6 e @ sia A, 3uD ury 3nef off 100 A &I A TP AB
@ fere It S wd fpdorn en?

[Question ID = 7236]

1. 900 [Option ID = 28938]

2. 764 [Option ID = 28939]

3. 733 [Option ID = 28940]

4. 800 [Option ID = 28941]

Correct Answer :-
® 900 [Option ID = 28938]

20) Which of the following is the same as 3 thousandths + 3 tenths?

forgorfeiRad & A Bl A1 3 FoIRd + 3 gAd RFA D A6t 37

[Question ID = 7237] www.FirstRanker.com
1. 3.3 [Option ID = 28942]
2. 0.303 [Option ID = 28943]
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21) Which of the following statements is not true about mammals?

forgotferRaa & A Blol AT Berel Ferorenf¥il @ faerr A A8} ordt 37

[Question ID = 7238]

Mammals are warm-blooded animals. / ¥dorerst spf 3ot aret Sfia a1 8 [Option ID = 28946]
Mammals are cold-blooded animals. / ot 83 el ardl Sffa @ & [Option ID = 28947]
Mammals have a four chambered heart. / dorenf3il 3 arR oISk &6 alar 3 [Option ID = 28948]
Mammals have mammary glands. / Iderenf¥=ii 3 goesjfért ur et &  [Option ID = 28949]

A wWN =

Correct Answer :-

e Mammals are cold-blooded animals. / ¥detemst 33 ¥t arel Sfta a1 & [Option ID = 28947]

22) Seema has done heavy physical exercise. As a result of this, she is getting cramps in her legs. It is due to the
accumulation of:

e of ardt oy IR fpan, o ufvmarassu 33> TRl 3 Vo 31 Sircdl 3 6 fdpard SPa @ ®RUT & ?
[Question ID = 7239]

Acetic Acid / wefifews swer [Option ID = 28950]

Carbon dioxide / @er sissiiqriss [Option ID = 28951]

Lactic Acid / @ifereas aer [Option ID = 28952]

Nitric Acid / omsféa swer [Option ID = 28953]

A w N =

Correct Answer :-

® Lactic Acid / difdreas swet [Option ID = 28952]

23) In the process of fertilisation, there is fusion of nuclei of the sperm and the egg. As a result, the number of nuclei
present in a zygote is:

fororrer & yfpa 3, 9@Iv] 3R 313 @ SN I AHcRIol BIAI 8 URVIFIRARU, Db Jodsl d AlsIs olliNd DI AR 3:
[Question ID = 7240]

1. None / @I ot [Option ID = 28954]

2. 1 [Option ID = 28955]

3. 2 [Option ID = 28956]

4. 4[Option ID = 28957]

Correct Answer :-
e 1 [Option ID = 28955]

24) Which of the following statements is incorrect about carbon monoxide?

forgsifeiRaa werell 3 A Dlol AT TeIoT DIl FHioliTaATS D aR A 3rcrd 37

[Question ID = 7241]

1. It is produced from incomplete combustion of fuels such as petrol and diesel. / =& Uct 3l Sieict S Serar @ siefasat A 3curfea alar 8 [Option ID = 28958]
2. It is a poisonous gas. / g v fedefl strd [Option ID = 28959]

3. It contributes strongly towards greenhouse effect. / sz sffcrers1 yorma @ fere eaar A Abiere oar & [Option ID = 28960]

4. It reduces the oxygen-carrying capacity of the blood. / & ¥ &I sifa=iisior asot g d A o & [Option ID = 28961]

Correct Answer :-
e |t contributes strongly towards greenhouse effect. / s sffciaz1 Yorra @ fore eaar 3 AMererot Sar & [Option ID = 28960]

25) Choose the set that represents only the biotic component of a habitat.

3A Yol DI RIoT BN Sl fpil smarT & Sifaa aed o1 gorfar 3

[Question ID = 7242]

1. Tiger, deer, grass, soil / am, f&%1, a1, Bt [Option ID = 28962]

2. Insects, water, aquatic plants, fish / e, Swer, 2wt dd, swett [Option ID = 28963]
3. Insects, frog, fish, aquatic plants / dblc, die®, e, 2w} dd [Option ID = 28964]
4. Sand, turtle, crab, rocks / 3, @ge, ddsI, ucer [Option ID = 28965]

Correct Answer :-
e |Insects, frog, fish, aquatic plants / ®lc, dewd, Fect, g da [Option ID = 28964]

26) If a person suffers from loss of vision at night, then which vitamin deficiency will he be suffering from?

afe up cafep sfivr eftediorar ﬁcﬁ%ﬁ%,?ﬂasﬁmﬁtﬁaﬂ?:@ﬁzg A
[Question ID = 7243] www.FirstRanker.com

1. B1 [Option ID = 28966]
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27) In which of the following parts of the human body, Cartilage is not present?

forgoiferRaa 3 3 I IRR @ b1 3=t 3 Sunf¥-er o181 aiefi?
[Question ID = 7244]

1. Upper part of ear / ot @1 3udt f&2=n [Option ID = 28970]

2. Nose / s [Option ID = 28971]

3. Kidney / 31ct [Option ID = 28972]

4. Joints of Bones / sfgszi < 2ifér [Option ID = 28973]

Correct Answer :-

e Kidney / ajsf [Option ID = 28972]

28) A farmer has sown 200 grains of wheat from a single plant, from which 150 tall and 50 dwarf plants are produced.
What will be the genotypes of the offsprings?

o feprel of 3ig @ 200 spa disl die, 513 A 150 4l o134 sz 50 si¢ diel Icuool gu 3pIcil Uiel ®I SilollcIsU Il SI91?

[Question ID = 7245]

1. TT, Tt [Option ID = 28974]

2. TT, TT [Option ID = 28975]

3. TT, Tt, tt [Option ID = 28976]
4. TT, tt [Option ID = 28977]

Correct Answer :-
e TT, Tt, tt [Option ID = 28976]

29) If an aluminium spoon, which is at a temperature of 30 degree Celsius, is put in water, which is at a temperature of 40
degree Celsius, then the heat will-

afe uep uefdiforrar a@era il fop 30 R} AferRrT @ amsier R 3 33 40 39t AfeIRRT D arusre arel urefl # srer siar 3, d Iwr-

[Question ID = 7246]

1. Flow from aluminium spoon to water. / vqféiformer asara 3 umit 3 yaida aeft | [Option ID = 28978]

2. Flow from water to aluminium spoon. / ureft 3 uelfdiforme a@era i yarda aeft| [Option ID = 28979]

3. Not flow from one body to another. / v@ 3 g2 9 yaifda ot 8eit | [Option ID = 28980]

4. Will flow from spoon to water first and then from water to spoon. / uact Tdra 3 urelt 3 yarad apft fibs ursft 3t @wera 3 | [Option ID = 28981]

Correct Answer :-
e Flow from water to aluminium spoon. / urft 31 eejfdiforwpT awera 3 yaifaa aweft| [Option ID = 28979]

30) The power of a lens is -

U dA bl errdr-

[Question ID = 7248]
1. Directly related to its focal length. / 33cht wiast g3t 3 Men Aewier et 3

[Option ID = 28986]
2. The reciprocal of its focal length. / 33t wias1 Gt @1 Raae ardt &

[Option ID = 28987]
3. Not related to its focal length. / 3uht Wi g3t 3 Jwifira ot &

[Option ID = 28988]
4. Always double of its focal length. / 3t Wi g3t 3 adion gojoft 2l 8

[Option ID = 28989]
Correct Answer :-
® The reciprocal of its focal length. / 33l WA g3t @1 R aidt 3

[Option ID = 28987]

31) A bike moving at a high speed, collides with a stationary bus. How would you compare the forces acting on them?

U JI5P Al I A 311 3T b WS F &1 A caRKdl 3 31U Fol UR ool dlcl el bl dctoll DA DIdI?

[Question ID = 7249] www.FirstRanker.com
oIt 3

1. The bus exerts a greater force on the bike. / @1 as® W 3iféd dct

[Option ID = 28990]
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“on®D ¥ t b

ml. buf dird ik @ §adt exhi%ank @n @it of force on each other. / &t aliz a1 Aol o G2 U2 2T AR 3 AeT PIA E_
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4. The bike exerts a greater force on the bus. / @s® a1 w2 3 gct ot &

[Option ID = 28993]

Correct Answer :-
e Both bus and bike exert the same amount of force on each other. / @1 3iiz aE® Sl6ll Ub G W W6l A I T TP &

[Option ID = 28992]
32) The temperature of a plastic plate, an iron rod and a wooden ball is the same as that of a human body, i.e. 37°C.
Nidhi puts all the above three objects in water, which is at a temperature of 98.6 °F. After a few minutes, she records the
temperature of each of the objects. Which of the following is correct?

U wRed Wie, U cils 85 3R Ud sl bl 3ic oI audel AR D nhi¥e amae 37°C @ saer & foif2r ot diell avqaii oI umel 3
steredl 3, Rrrm! arueret 98.6 °F 3 o oIl @ aIc @68 Y™ dvq Pl dIuddlel ool okl 3 foeifeiRaa 3 3 olal a1 4dl 37

[Question ID = 7250]
. Temperature of wooden ball < Temperature of plastic plate < Temperature of iron rod/ e@st i sl @I ALl < tell¥ed bl tele DI AIG < clls BS DI
sl

1

[Option ID = 28994]

2. Temperature of plastic plate < Temperature of wooden ball < Temperature of iron rod/ wif3c® &t twic @1 amdel < cibs! & 3ic DI A < dis 85 DI
AaTTet
[Option ID = 28995]

3. Temperature of plastic plate = Temperature of wooden ball = Temperature of iron rod / wifRca &l wic @I Al = cids! bl sig DI AU = dls B DI
AeTTe
[Option ID = 28996]

4. Temperature of plastic plate = Temperature of wooden ball < Temperature of iron rod/ wif3c® & twelc @1 A6 = cidbs! &I 3ic DI A < s 85 DI
AeTel

[Option ID = 28997]

Correct Answer :-

e Temperature of plastic plate = Temperature of wooden ball = Temperature of iron rod / winf3c® & telc @1 ANl = cidbs! &l SiG DI Al = cie &S DI
AT
[Option ID = 28996]

33) A person with a height of 2m holds a bag of 20 kg over his head for 20 minutes. The work done by him will be:

2 3ficz &l csarg ardl v s of 3ol B1r ur 20 freic do 20 fope) oI a3l 3018 3T IAD FRI b sk ori forgeifeilRaa 3 A w16 sen

[Question ID = 7251]

1. 400 J [Option ID = 28998]

2. Zero / 9o [Option ID = 28999]
3. 392 J [Option ID = 29000]

4. 300 J [Option ID = 29001]

Correct Answer :-
® Zero / gioa [Option ID = 28999]

34) If an iron nail kept in an open jar gets rusted, the mass of rusted iron nail

Afe uep clig bl blet DI el el I @I SIIAT 3 dl 3A ST ¢l Sl 3, Sidl ol 3 i bl dler o1 IR

[Question ID = 7252]
1. undergoes no change / @IS dgela oidl fGarReIn

[Option ID = 29002]
2. would be lesser than the mass of iron nail / clia & dlet B 9=z A DB o

[Option ID = 29003]
3. would be more than the mass of iron nail / clig &t EHict @ 2 A 3iféras Bon

[Option ID = 29004]
4. would be equal to the mass of iron and oxygen / cils 3ii? sifa=fisior ® erel R drel oI

[Option ID = 29005]

= —h
CorrectAITsSweT .

o would be more than the mass of iron nail / g bt et @ 912 3 3ifery o
www.FirstRanker.com
[Option ID = 29004]
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a2 dfs o1 dlua 22 5.5 A @ & Al Do vrrve WAWARHESTRANKEEE Mar o1 asor MM 51kS YRBNKEHRE QN aenr
Dol anfSA?
[Question ID = 7253]
1. Maintain pH of mouth below 5.5 by using chewing gum / =gs1 st @& 3wl gRI 3 & diva a2 @ 5.5 3 ofid gome 2xen [Option ID = 29006]
2. Regularly rinse with slightly acidic solution / forifdra su 3 wfif$® #iet 3 ds 3@ wen [Option ID = 29007]
3. Maintain pH above 5.5 by using basic toothpaste / gerize @ 3uilr 3 Ul va IR @l 5.5 D HWwR Fome /e [Option ID = 29008]
4. Use toothpaste which is slightly acidic / %ft certiee 3uzilsr @2on sit &5 @it 2ft vafifsas 2 [Option ID = 29009]

Correct Answer :-
e Maintain pH above 5.5 by using basic toothpaste / gerize @ 3wier 3 Ut va 3R @I 5.5 @ Huw2 gone 3:xent [Option ID = 29008]

36) The decomposition of vegetable matter into compost is an example of

dorrufer ugref o1 FIg 3 3ruEcd s, foifdcilRaa 3 2 foparmT 3e1EuT 8 ?
[Question ID = 7254]

1. Endothermic reaction / Iwmeid! yferfagenr [Option ID = 29010]

2. Double displacement reaction / fgfa=zemder yferfagerr [Option ID = 29011]

3. Displacement reaction / fazemuet yfeifezn [Option ID = 29012]

4. Exothermic reaction / swmerdt yfeifegen [Option ID = 29013]

Correct Answer :-
e Exothermic reaction / 3w yferfapzr [Option ID = 29013]

37) Which of the following is an example of an element?

forgot 31 A Blel AT TP 3RIA PI GBI 37
[Question ID = 7255]

. Water / umwft [Option ID = 29014]

. Silicon / Riferpter [Option ID = 29015]

. Potash / dierar [Option ID = 29016]

. Magnesia / dwsfiforn [Option ID = 29017]

A W N -

Correct Answer :-
e Silicon / Biferaster [Option ID = 29015]

38) Which of the following is only a physical change?

foraot 3 3 Dol AT dDact v siiferd af¥ader 37

[Question ID = 7256]

. Melting of candle wax when heated / s 8lol w2 Histercdt @ i @1 fUacten [Option ID = 29018]
. Ripening of fruits / weii @t uaen [Option ID = 29019]

. Digestion of food in our stomach / s#mR 3mier 3 siistor @I urdot [Option ID = 29020]

. Burning of candle when heated / swf glot w2 alterarit @1 Sicton [Option ID = 29021]

A WN =

Correct Answer :-
e Melting of candle wax when heated / swf 8lol uz sitarartt & ailer 1 fUeeten [Option ID = 29018]

39) When water in a paper cup is heated over a candle then it is observed that

DPIG @ ®U 3 Ulell @l Sid sl @ HU sRA far srI dl A6 URIT sRIT fds-

[Question ID = 7257]
1. The paper cup catches fire instantly, and water spills out of it. / eI @ ®u of g 31eT uds ot i ublt PR srRI

[Option ID = 29022]
2. The paper cup becomes hot and the temperature of water remains the same. / @BIeI @I ®U 36 &l SRI 3l Ulell & AT 3 PIS TG old! IR

[Option ID = 29023]
3. The base of the paper cup becomes black and the temperature of water remains the same. / @Bt @ @u &t dcll o1 351 Bicl Bl SRI U Ulofl B Aol I BIS
BD oIl usT

[Option ID = 29024]
4. The temperature of the water inside the cup increases and the water may even boil on further heating. / @u & 3igz 3 3u ULl BT AMEICT §G SRI delT
eNST 3l oW ot W urehl et oft JAdar &

[Option ID = 29025]

Correct Answer :-

eitsT 3iie st ot R urell 3act 8ft e 3

[Option ID = 29025]
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[Question ID = 7258]
Begam Hazrat / dsm1 sera [Option ID = 29026]
Rudramadevi / sgganedt [Option ID = 29027]
Begam Rokeya / dsm1 3dar [Option ID = 29028]
Raziyya / 2f5rm [Option ID = 29029]

A W N -

Correct Answer :-
e Raziyya / fSrm [Option ID = 29029]

41) To improve agriculture in the Bengal province, the East India Company implemented a policy called

dorrel yid 3 ofY 3 Fer D RRI $3¢ 3x weush of v ofifer arey &, KBrRI war sar en-
[Question ID = 7259]

. Ryotwari / 3raast [Option ID = 29030]

. Permanent Settlement / serft dctaza [Option ID = 29031]

. Mahalwadi / @Bt [Option ID = 29032]

. Zamindari / sefigit [Option ID = 29033]

A W N -

Correct Answer :-
® Permanent Settlement / Jerft deraza [Option ID = 29031]

42) Which of the following was a message that Ashoka propounded through Dhamma?

HIIC UMD of eFH D ST forgor A A Ddlet AT AHT91 f=m?

[Question ID = 7260]

1. Worshipping God / $az &t 3urten @2an [Option ID = 29034]

2. Performing religious rituals / enfifas srepeoter forsman [Option ID = 29035]

3. Following mythology / diaifir sieRrAmil @ uretel [Option ID = 29036]

4. Treating all creatures with compassion / 2reft Sfiaf @& yfer genggar [Option ID = 29037]

Correct Answer :-
® Treating all creatures with compassion / st Sfidi @ yfer garggar [Option ID = 29037]

43) A three-volume history of Mughal emperor Akbar’s reign, written by his friend and courtier Abul Fazl, was titled as:

FOICT MR DR D ARIoIDIcT D KGRI B diot Zst A 3aD frq 3z crardt srger woet of ferar 3, KAt ofid 3:

[Question ID = 7261]
1. Ain-i Akbari / sméor sroast

[Option ID = 29038]

2. Akbar Nama / srbazotian
[Option ID = 29039]

3. Sulh-i kul / Jes-v-get

[Option ID = 29040]
4. Baburnama / sra@zemam

[Option ID = 29041]

Correct Answer :-
® Akbar Nama / siaaatren

[Option ID = 29039]

44) Stripurushtulna, a book that criticises the social differences between men and women, is written by :

FAIYBHdCTel, U gdd il )l 3k guy @ i dlol arcl ARfee deurd &l siclkel ol 3, SRI forxdl srRi 3
[Question ID = 7262]

1. Tarabai Shinde / armrs f9ic [Option ID = 29042]

2. Pandita Ramabai / df3ar 2amers [Option ID = 29043]

3. Jyotirao Phule / Sferia ger [Option ID = 29044]

4. Begum Rokeya Sakhawat Hossain / demw1 sden 3ramad g3let [Option ID = 29045]

Correct Answer :-
e Tarabai Shinde / arm@rs f9i¢ [Option ID = 29042]

45) Which of the following statements is correct about the Lok Sabha?
www.FirstRanker.com
cllase @ aR 3, foret 3 A Dlol AT weror A8 3?7
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. Two-third of its members retire every second year. / &2 g2} a¥ s3I Gl- B Ac Aaforge a it 3
[Option ID = 29047]

3. Once the Lok Sabha passes the budget or any other money related law, the Rajya Sabha cannot reject it. / afe vep &R clie 2191 of Solc a1 fore Adelt Profer
URI @2 feRI, Al ISR 9T 33 35 oldl b2 Al

[Option ID = 29048]
4. Lok Sabha is not subject to dissolution. / cita e sist oial 8l Japedt

[Option ID = 29049]

Correct Answer :-

e Once the Lok Sabha passes the budget or any other money related law, the Rajya Sabha cannot reject it. / afe ves @R clias 191 of goic =1 fora ikt wrofor
URI @2 feRI, Al ISR 9T 33 35 alal b2 Abal

[Option ID = 29048]

46) Which of the following statements is not correct about the work of a Gram Panchayat?

SJIH UdRIA @ BRI & aR A orget A A Bl AT deret A8 oidl 37

[Question ID = 7264]
1. Construction and maintenance of water sources, roads, drainage, school buildings. / Sicr 3, Js®, formrlt, f[ercrr B sarRa 3nfe or forafur siie S
@Il

[Option ID = 29050]

2. Making laws on the subject of the Concurrent list. / Jmracdf It & forr w et dotren
[Option ID = 29051]

3. Levying and collecting local taxes. / Fenford @31 I cl|], Bl 3R acToll

[Option ID = 29052]
4. Executing government schemes related to generating employment in the village. / sj1 3i JAspIR o1 B0l A AFdd IRDPR! AlSEN3I DI clo], BIol

[Option ID = 29053]

Correct Answer :-
® Making laws on the subject of the Concurrent list. / Jmradl et @ fwer w2 @rofer dotrolr
[Option ID = 29051]

47) Which of the following was called ‘the heart and soul’ of our constitution by Dr. Bhim Rao Ambedkar ?

foraot 3 3 b1 1. IIRIG 3PFAS®: of BAR Afdermet B &g 3ii= sircdr Dar UT?
[Question ID = 7265]

. Right to Constitutional Remedies / 2idenford 3uart @1 siférerR [Option ID = 29054]
Preamble / gzamaon [Option ID = 29055]

Right to equality / et @1 siféiprR [Option ID = 29056]

Cultural and Educational Rights / Jizmfcid 3iiz difére siféir [Option ID = 29057]

AWN—\

Correct Answer :-

e Right to Constitutional Remedies / idenfor 3uari 1 sifeipr [Option ID = 29054]

48) When people say that those who belong to a particular religion, sex, race or economic background are ‘stingy’,
‘criminal’ or ‘violent’, they are expressing which one of the following?

Ste fop=it fadry epf, fefer, auf srerar snf¥fas gogeyfdr A A cafepeal ol clier sffa’, sraRiell’ & '@’ waa 3, ada d forvat 3 A pA gorfa 37
[Question ID = 7266]

1. Discrimination / sigema [Option ID = 29058]

2. Injustice / steumr [Option ID = 29059]

3. Stereotype / ¥feag arun [Option ID = 29060]

4. Exclusion / smwarsfer [Option ID = 29061]

Correct Answer :-
® Stereotype / feag emun [Option ID = 29060]

49) Which of the following can generally be used to determine the development of a country?

AT Al UR b 391 d fIdRT @l forgor at A oA forerifya fosen sir adar 37
[Question ID = 7267]

www.FirstRanker.com



*ap D =2
Fi%%ﬁ% fémof its people / yfereafep aIrRI, 3iRIA MeRAr 3R 31 cliell P Fare azqgRafer [Option ID = 29063]

Qﬁﬁ@&iﬁéﬁe §5|i]6 I?E‘l health status and happiness index of its people / yfeiIfep 3irI, 3li¥d AMeRdr 32, clbll bl Farrer axqgafer iz
2@!9@?& WWW. FlrstRanker com www.FirstRanker.com
4. Average income and average literacy level / siRia 3irI 3l aliRiA s8R xR [Option ID = 29065]

Correct Answer :-
e Per capita income, average literacy level and health status of its people / yferefp airI, 3fiRIA MeRAr 32 3iiR cliell &I Fare azqgRafer [Option ID = 29063]

50) Jute grows well on alluvial soil and requires high temperature, heavy rainfall and humid climate. Which of the following
countries may NOT be able to produce jute due to its climatic conditions?

SI¢ 39Tiol @ ferdl SIcilg RBIcdl AR U 8 3R 33 &I dIudiol, HRI aui 1R oI Sicrary Tnfdd Sidl & fordol 31 A lol AT S9I UGl STCTAR]
ufif¥eftr & AR ¢ BT IcuIGdl ofél @2 urdr ?

[Question ID = 7268]

India / sma [Option ID = 29066]

Uzbekistan / ssafésearer [Option ID = 29067]

Egypt / B [Option ID = 29068]

Serbia / =ifden [Option ID = 29069]

A W N -

Correct Answer :-
e Serbia / wfdfer [Option ID = 29069]

51) Globalisation is the process of:

dediepvuT U ygfpenm 3:

[Question ID = 7269]

1. Foreign Trade and integration of foreign markets / fadoft =mur sk fgell arsIRl @1 Wwwetet [Option ID = 29070]

2. Interlinking production of goods and services across countries / geif @ dfa azq 3l JAarsii & Icurcel @I Siisol areft [Option ID = 29071]
3. Spreading of production of goods and services by MNCs / ag-3mcir wuforll gRI aeqgail siik Admsil @ 3curgel @I Wea [Option ID = 29072]
4. Rapid integration or interconnection between countries / diq edbiaur a1 et @ dfa siaaeer [Option ID = 29073]

Correct Answer :-
® Rapid integration or interconnection between countries / diq vt 11 aegt @ dfta sideder [Option ID = 29073]

52) Which of the following statements best defines ‘Poverty Line’?

forgor 3t A Dol AT Dol =18kl a1 @t ASA Rra uf¥snfa wear 3?7
[Question ID = 7270]
1. A person is considered poor if his / her consumption level falls below the national average. / 33 ®ftb @I SRI4 A SIA & SRIDI WINPT IR AR 3R D

ofid smrr & [Option ID = 29074]
2. A person is considered poor if his / her purchasing level falls below the ‘minimum level’ as defined by the government in power. / 33 =Iftb @I sRla

TGI ST & fORIPT T AR IRDPR GRI forelif¥a 'sotaet 3R’ @ offd Br suar 2 [Option ID = 29075]

3. A person is considered poor if his / her income or consumption level falls below a given ‘minimum level’ as defined by the government in power. /
3 RRP P SR1 ALGI ST S *AfS IADI 3RI AT IUHIBT IR IRDR gRI o1l ‘sfolast IR’ @ offd Br sieft & [Option ID = 29076]

4. A person is considered poor if his / her tax paying level falls below a given ‘minimum level’ of the national average. / 33 =afep @l sRld el Siell 3 Al
IADL DI SAAL IR [ SR 'RIoIAd AR 3R IR D ofld et s & [Option ID = 29077]

Correct Answer :-
® A person is considered poor if his / her income or consumption level falls below a given ‘minimum level’ as defined by the government in power. /
3 P P 331 ALl ST S AT IADI 3RI AT IUHIBT IR IRDR gRI forerilda ‘ooledst IR’ @ offdl Br sieft & [Option ID = 29076]

53) Which of the following is the defining feature of a secular state?

forgor 3 A dlot Hl v epiforRUer I B foreriza fAaoryar 3?7

[Question ID = 7271]
1. State has an official religion and consistently promotes it. / I @1 oo sufirpi® et 3 3l as orRAR 3A yailya wr &

[Option ID = 29078]
2. State does not have an official religion but it still promotes it. / s @1 @IS 8ft v suferpi¥e ot ol 3 b2 oft ag 3A yanlda wzar 3

[Option ID = 29079]
3. State has an official religion but it never promotes it. / 31 @1 teb 3nfépided euf & w2 as 33 weft sft yaifya ot wear

[Option ID = 29080]
4. State does not officially promote any one religion as the state religion. / =21 suférpif¥a wu 3 bt sft v el Dl 5w D ept B Fu 9 yailda o&l awar

[Option ID = 29081]

Correct Answer :-
e State does not officially promote any one religion as the state religion. / s snfermif¥as wu 2 fopaht oft b ent B AT B eni D Fu I ganf¥a ot wzar

[Option ID = 29081]

54) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R :



:I .JOF@ICstRsa'nnk[E r;tb igneous rock which exists in the form of small grains.

I_ 1 (NTI??EWE@} rgaeﬁﬁ?ecgs down deep inside the earth’s crust slowly.

Select the correct option from the given alternwwle\é{'FIrStRanker'Com www.FirstRanker.com

sifdrpersi(A): S)ollse 3Pol dUgloll I UM IGIEI & Sil fb SIoIgR WU 3 ure Sird &
a® (R): gedt & udél @ 3ic? s18s awm U g3n dear eii-¢fis ds1 8iar &
foreat farpeul & A 8l faeu gol

[Question ID = 7272]
1. Both (A) and (R) are correct, but (R) does not explain (A) / @il (A) iz (R) 3t &, Afdser (R) (A) @ Jure ofdl v |

[Option ID = 29082]
2. (A)is correct and (R) is incorrect / (A) 3@ 8 3l (R) sreta 8

[Option ID = 29083]
3. (A)isincorrect and (R) is correct / (A) s 8 3z (R) 1t 8

[Option ID = 29084]
4. Both (A) and (R) are correct, and (R) explains (A) / @il (A) 3l (R) 3@t 2, iz (R) (A) &I Juce w2 3

[Option ID = 29085]

Correct Answer :-

® (A)isincorrect and (R) is correct / (A) s/ @ 3iR (R) 3%t @
[Option ID = 29084]

55) Given below are two statements

Statement (A): The vast alluvial plains of north India are almost devoid of economic minerals.
Statement (B): The region of alluvial plains of north India is a new geological structure as compared to other parts of India.

Select the correct option from the given alternatives.

Deel (A): IR HRA D [d9rre SicilG Aol cPnRPI e fersil A dira &
@Yol (B): 3tk MRA @ Siclie  IT6ll DI 8ic], HIRA D 3oA HPIL DI detoll A ofF yYoril-IT ol &
2R o) frepeul 9 2 A Rrpea &1 = B

[Question ID = 7273]

1. Both (A) and (B) are true, but (B) does not explain (A). / gl (A) 3iiz (B) 31 &, afdsat (B), (A) @t Juce oidf war 8
[Option ID = 29086]

2. (A)is true and (B) is false. / (A) 3 3 iz (B) stera @
[Option ID = 29087]

3. Both (A) and (B) are false. / cloil (A) iR (B) srcta &

[Option ID = 29088]
4. Both (A) and (B) are true, and (B) explains (A). / @il (A) 3l (B) 3 3, 3l (B), (A) ol 3l Juve e 3

[Option ID = 29089]

Correct Answer :-
e Both (A) and (B) are true, and (B) explains (A). / clail (A) iR (B) 31 &, 3l (B), (A) @I 4l 3uce w2 &
[Option ID = 29089]

56) Which one of the following places receives the highest rainfall in the world?

foraot 31 A Blar Hl SE1E UR faea A& ASA siferd aut il 3?7

[Question ID = 7274]

1. Silchar / Brer [Option ID = 29090]

2. Mawsynram / suf3erme [Option ID = 29091]
3. Cherrapunji / a2mgsft [Option ID = 29092]
4. Guwahati / sparerct [Option ID = 29093]

Correct Answer :-

o Mawsynram / sufermer [Option ID = 29091]

57) The location of the iron and steel industry was shifted from a region close to coal fields, canals and railways to flat land
near sea ports, because:

www.FirstRanker.com
PRI JicKell, o182l 3R IcId D 8 A il MR sIUIA Il AUl bl eIac 4fd D forwe Ferarialia fopd s1e, aiife:
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2. Market areas were developed near the sea port. / g udoil @ forpe =R fAdRa &

[Option ID = 29095]
3. Availability of sufficient water to supply a large iron and steel plant in all seasons / sft sitewil 3t cile sl seurd 3l &t amyfef B ORI vRIfa Sket Suctser er

[Option ID = 29096]
4. Steel works had become very large and iron ore had to be imported from overseas. / s3uid @1 ©RI 4&d a6 SRII I 312 cllg 3RRD I fASell 3 IR Dol
USAI AT

[Option ID = 29097]

Correct Answer :-
e Steel works had become very large and iron ore had to be imported from overseas. / s3urd oI @RI d6d d6 RN I IR clis 3RRD ®I Al A R B0l
USAr et

[Option ID = 29097]

58) Which are the basic tenets of Gandhi’s notion of non-cooperation?

I. Launching a full civil disobedience campaign.

Il. Surrender of titles that the government awarded.

lll. Garnering mass support from some specific regions.

IV. Boycott of civil services, army, police, courts, legislative councils, schools, and foreign goods.

3RIBIGT I sTielardt v @ Jel Rigia a=r 8?7

|. guf AfderRr srasin iR 93 DIl

Il. 3RPR FRI Ygral i Sirol arell SuIfRIl w1 carsT

ll. o1 mo B &gl 1 Sto1 A3ekeT SeronT

IV. fiferer Aamsii, Ao, gfer, sicrardl, f&emer ufvugt, Faydl siik Rl awqsit o1 adter

[Question ID = 7276]
1. I, lland lll only / B I, 1l sz 111

[Option ID = 29098]
2. 1, 1land IV only / B I, Il sz IV

[Option ID = 29099]
3. 11, il and IV only / B 11, 11l sz IV

[Option ID = 29100]
4. liland IV only / B 11l gz IV

[Option ID = 29101]

Correct Answer :-

e [ lland IVonly / B I, Il sz IV
[Option ID = 29099]

59) Given below are three statements. Examine them in the context of shifting cultivation in colonial India.

I. The Government banned shifting cultivation.
Il. It was difficult for the government to calculate taxes from shifting cultivators.
lll. Seeds were sown in the ashes with the onset of frosty winters in the hills.

Siicl eflol ool 163 3 & siiuforafdrem sira 3 geiq Wil @ ey I sordl Sifa oI

|. IR of g Al U Aw® P S
1. g3iq it & DRUI IRDR D R cPle @I 31a X6t Jfdwer ar
Ill. gaif3=il 3t Afl bl 9rsana @ el & ra J it dlu S A

[Question ID = 7277]
1. lis true, but Il and Il are false. / | 321 3, aiftpar |1 siz 1 srir &

[Option ID = 29102]
2. lis false, but Il and Il are true. / | sricr &, afdsor 11 st 1 311 &

[Option ID = 29103]
3. land Il are true, but Il is false. / | iz |l 1= &, Afdvor |11 srier 3

[Option ID = 29104]
4. | and Il are false, but Il is true. / | 3iiz Il sri 3, afdor [ 3T 2

[Option ID = 29105] www.FirstRanker.com

Correct Answer :-



:l » FitstRahKer.com™

A-Firstranker's choice 0 oo FirstRanker.com
60) An object completes a full circle around a c1rcular plat% ?H‘seconds rT"he object ha WWW !

U a¥qg 50 ABs I UPb SNCIDR g d ARl 3R v adqg Yol ol 8 avg o

[Question ID = 7322]
1. Zero displacement and zero distance covered / 9o fd=zemnust 3k 9[o g3l oI I

[Option ID = 29282]
2. Zero displacement and 9. distance covered/ gjger Rrzemuet 32 o, o3t @ &t

[Option ID = 29283]
3. 2y displacement and .. distance covered/ . Remuor a2 oy ot ot 6t

[Option ID = 29284]
4. 2rdisplacement and ;. distance covered/2r fezeiot 3z . g3t a1 bt

[Option ID = 29285]

Correct Answer :-
®  Zero displacement and 9. distance covered/ gfoer fazenuet 32 9. g3t aa &t

[Option ID = 29283]
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